(2) BOD., COD., £E%. 2. 2B BERXEERRRT
7 BREREZFRE

a_BOD (Al Gt mg/l)
BRE 5 C (3.0 | Be 2 e ) i 3 i3 7 F 3
7Kgk | B & ISWE|FH| & § = 15%(E
FAIA)  |Bxd A J09[12,12 = 100[ 0.9 J1.0[ 12,712 = 100 1.2
FRIQ)  |RIIEER B |1.0] 1212 = 100 1.2 J1.2[ 12 12 = 100] 1.5
ZIER [BEAB A J07[ 12,12 = 100[ 0.7 J0.8[ 12712 = 100] 1.0
BENTHR) [BEAB B | 1.0 1212 = 100 1.1 J0.0[ 1212 = 100] 1.0
BENTHRQ |=50E B | 1.2 12,12 = 100 1.4 |1.2| 12 /12 = 100] 1.4
BR)ILEF (1) [HET4S Af11[12,/12 = 100[ 1.2 J1.0[ 11 /12 = 92 1.2
BIERQ) |=5XE Af1i1[12/12 = 100[ 1.2 J1.1| 11 /12 = 92[ 1.2
RITH _ [R)IB B | 1.3 12,12 = 100 1.6 J1.2[ 12 12 = 100] 1.5
AZNQ)  |[EEE A [13[ 1212 = 100[ 1.6 1.4] 12 /12 = 100 1.5
REXAE A J09[ 1212 = 100[ 09 J1.0[ 12712 = 100 1.2

RENE)  [EXE AJ09[ 1112 = 91110 12,/12 = 100[ 1.1
X2 EHERE A 0812712 = 100] 1.0 | 1.2 /12 =9 1.1
BRIER |%EiE AAJ0.6] 10712 = 83[<0.5J0.5 /11 _= 100 <0.5
MES: A [08[ 1111 = 100[ 0.8 f1.1] 10710 = 100] 1.4

CIA HE A 061212 = 100[ 0.7 J0.6] 12712 = 100 0.5

BRITH [ERER A J07[ 1212 = 100[ 0.7 J0.7[ 12712 = 100] 0.8
e A [08[ 1212 = 100 0.8 J0.7[ 12712 = 100] 0.7

B ERIE A J06[ 12,12 = 100[ 0.7 J0.7[ 12712 = 100] 0.8

EaEl ARBE A [08[10-10 = 100[ 0.8 J0.7[ 11 /11 = 100] 1.1
EEN A 08 09 = 100[ 09 J1.0[ 1010 = 100] 1.3

TE)l RAHE B |09 99 = 100[ 1.0 JO.O[ 11 /11 = 100] 1.1
MBI E5x  |m@m - smsmmes | C | 1.1] 12,12 = 100] 1.3 [ 1.1| 12 712 = 100] 1.3
MNENTFR |/MEE C |11l 1212 = 100 1.3 JO0.7[ 11 /11 = 100| 0.6
X8I =/ E |26 1111 = 100 29 | 1.4] 12 /12 = 100 1.6
ERIER ==& AAJO08[ 11 /12 = 920090711 /12 = 92 0.8
BB TR [FAaE AJ10[ 1112 = 9[10f10[12,/12 = 100 1.2
it 31 e AAJ06[ 12712 = 100[ 0.8 J0.6] 12712 = 100] 0.6
BRI Eid A 081212 = 100[ 1.0 J0.7[ 12 /12 = 100] 0.6
SHII FHE A J09[ 1112 = 921.0f07[ 12,12 = 100 0.9
B )1 mEE A J09[ 1212 = 100[ 1.1 J0.6] 9.9 = 100 0.6
RE)I it 54 B |1.0] 1111 = 100 1.4 |0.8[ 1212 = 100] 1.0
1Al mEyE B | 1.7 1112 = 0 1.8 |1.3[ 12,12 = 100] 1.4
[=s 74 U tE B |1.6] 1112 = 92[ 1.7 f1.1[ 12712 = 100 1.3
Rl RUIE A J06] 8.8 = 100[ 0.6 JO.65] 12712 = 100/ <0.5
S )1 HMRAE A 071212 = 100[<0.5005[ 11 /11 = 100/ <0.5
EE) SHE A 08] 09 = 100[ 0.7 J06] 8,8 = 100 0.6
LI EA A J07[ 1111 = 100[ 1.0 J0.7[ 11 /11 = 100] 0.9
J\HJI J\B)IIT& A 12 0,10 = 90/ 1.6 1.1 1010 = 100 1.4
EE)I NEE A J09[10-10 = 100[ 1.1 J0.9| 9.9 = 100 1.0
E 7]l TEniE A J06[ 12,12 = 100[ 0.7 J0.6] 12712 = 100] 0.6
Al Ki2tE A J07[ 1111 = 100] 0.8 J[<0.5] 8.8 = 100/ <0.5
=1 =L A 061111 = 100] 0.5 J0.5[ 11 /11 = 100/ <0.5
FIEZ) XS A J10[10/11 = 91] 1.2 J0.6] 11 /11 = 100] 0.8
A 55— )& A 08[10-10 = 100{ 0.8 J0.6] 12712 = 100] 0.7
AFI mOE A |14 6,8 = 75/19f10] 67 = 86 1.8
=E e A [0.8] 10710 = 100[ 0.8 J0.7[ 11~ 11 = 100] 0.8
=1l =)Ili5 A J07[ 1111 = 100[ 0.6 J0.5[ 117 11 = 100 <0.5
ERAN | EEE A 0610710 = 100 0.6 J0.6] 10 710 = 100 0.6

GE) 1 F B EaNZDOWTIEERTEYEOERMFEHETY
BEISOVTIE, 2BOBAMTEHENEHTYETT,
O MBBEHEEFEREL-BOEMTYEOT 4%
2 @& & ®E: X 100
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FMZBEL-BRMTHEORT —2%

FROBMENENET 2 EZTREDNEVEDMLIEICERT, 0.75% n&F

B (n[ZEMTHEDT—42%) OT—%1E (0.75%x n NEHTRNGEEITIHEK
ZYY LF-BREEDOT—41E) TY,




b CcoOD (i@ih)

(BT mg/l)
—

TILD IR A 7] 21 3 B 22 3

ki £ B | ¥y B & X I5%El F15 B & X 75%fE

BBZ(0) |ZLBH% A | 25 1,6 = 1711 30] 2.7 1,6 = 17| 3.4
Bk Al 23 2,6 = 332701 23| 2,6 = 33 2.5

EBEZQ |*oXaBmk Al 20 46 = 61122122 46 = 61 2.7
Bt AER Mk Al 23 2,6 = 33 26| 2.4 1,6 = 17 2.8

T 2 Z LRk Al 18| 5,6 = 831.6] 1.9 4.6 = 61 2.1
Bisih%k A | 2.1 4,6 = 67123 24| 0,6 = 0] 2.4
BH]IRAR B | 3.7 1,712 = 8 3.8] 3.6 1,7 12 = 8 3.8

B & B |[PRE B | 3.6 | 212 = 17| 4.4 3.4 | 3712 = 25 3.7
ER M B | 3.4 | 4,12 = 33 381 34| 212 = 17| 3.6
EMEH Al 14 44 = 100/ 1.7] 1.8 | 34 = 75 1.9

£ » B [REBH Al 13| 44 = 100 1.3] 1.8 | 44 = 100/ 1.9
B Al10]| 44 = 10010 1.7 4,4 = 100 1.8

IERE SIS Al 12 44 = 100 1.2] 1.6 | 44 = 100/ 1.8
AERER Al 13| 44 = 100 1.3 1.6 | 44 = 100/ 1.9

RERE EOE Al 28] 0/12 = 030 30 012 = 0 3.1
ERE A1 33 0-12 = 00351 33 012 = 0] 3.3

c 2EFE (BAr mg/l)
TIRD IR A p ] 21 3 i3 22 3 B

Kigi& il EH B X Ei B &5 =
ZILEHE 032] 4,6 = 67 038 2,6 = 33

ESEZ(7) [BEBE I 028] 5,6 = 83 038 1.6 = 17
B35 0.30] 2 /12 = 17 0.38] 3,712 = %
FoXagmE 030] 36 = 50 0.25] 5,6 = 83

SRL () |[ELAEME I 03] 36 = 50 032] 4,6 = 6]
£ 0.34] 6 /12 = 50 0.29] 912 = 75
TRt%E 0.15] 6.6 = 100 0.26] 4,6 = 6/

" OE Z (BEMRE I 0.23] 4.6 = 67 048] 2,6 = 33
5] 0.19] 7,12 = 58 0.37]] 6,12 = 50
HFHIIRAR 0.44f 1.6 = 17 062] 0.6 = 0

W & & [PRE I 0.4 1,6 = 17 0500 1.6 = 11
ERME 0.35] 2,6 = 33 04/]] 06 = 0
iy 0.40] 4,18 = 2 0.53) 1. 18 = 6
O Eh 020 46 = 67 035 2,6 = 33

ALERE B I 0.30] 3,6 = 50 047]] 2,6 = 33
B3 030 712 = 58 041 412 = 33

d 2% (EiE) (B4 mg/l)
Tl FEIEn 7] 7 3 E 79 3 E

Kz & i i B 5 X Ei§ B 5 =
SILBH%E 0.015] 6./ 6 = 100 0022 5/ 6 = 83

EBRE(7) |[BEME o1 [o0o0i4 6~ 6 = 100 0019] 5 6 = 83
Sy 0.015| 127 12 = 100 0.021] 10 / 12 = 83
FoXaBME 0012 6. 6 = 100 0012] 6./ 6 = 100

ERE () [ELAEME 1 o012 6 6 = 100 0014 6 ./ 6 = 100
£ 0.012] 12 7 12 = 100 0.013] 12 7 12 = 100
TRtE 0.008] 6. 6 = 100 0.000] 6. 6 = 100

" OE B |[BEmE o1 0013 6. 6 = 100 0018 5. 6 = 83
35 0.011] 12 / 12 = 100 0.014] 11/ 12 = 92
HHRIIRAR 0032 3 6 = 50 0047 2. 6 = 33

M & E [PRE 01 [ 0024 3/ 6 = 50 0.031] 3 6 = 50
ERHE 002 5 6 = 83 0031] 5 6 = 83
E35) 0.026] 11 / 18 = _ 61 0.036] 10 / 18 = 56
OB 0.017] 5. 6 = 83 0.021] 6. 6 = 100

AEEE BB p o021 5 6 = 83 0.036] 2. 6 = 33
1 0019 10~ 12 = 83 0029 8 12 = 61

e ZEE G (%4 mg/l)
Tl [ B T 7] 9 3 E

Kz & i i FIREES

= EXE el 0008 47 4 =100
Al E S 0.004] 4. 4 = 100

AEITR |EhE 0.004| 12 7 12 = 100
RICXB syl 0004 127 12 = 100
E S 0.004] 4 4 = 100
Az|BER 0005 12~ 12 =100




